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Miharika Jha 7 hours oo

Thank you for the session sir 4,
Homewaork done

b P REPLY B

Madeem 7 hours ago
@ Homework 1

© Arrangement of today’s Box Puzzle from Top to bottom is

Box Colour
G Grean 4.

Read more
g 1 GF  REPLY -
= 1 REPLY

Simiran Chauhan 1 hour ago 1 subscribers
HOMEWORK ANSWER IS

G GREEM

C BLACK

FEBLUE _

Read more

fh P REPY B

Muskan Rai £ hours ags
5- green

C-black

C-blue

B - violet/yellow...

Read more

fh GF  REFLY B

E.

Dak=ha Seghh Parilbar 7 bowrs ago
Todays e answer—

G—ogre-=n

C—black

F—blwe.

Read more

e REPLY =

Shefali Thakur & houwrs ago 4 Sasitacr
A NMEVEer:

G - Gresn

C - Elack
F-Elu=s_.

Read more

ot oo REPLY =

Rionika Kumar 2 hours ago 1 subsor
E Gresen

C Elack

F Blu=

B Violet Yellows ...

Read more

ah GF REPLY -

B vimlet or pellow .

Re=ad rmore

oy GF REFPLY =
Rirmpa Das 3 howrs apo 1= swtccrisar
Green, black, blus violet, red, white

ah &R REPLY =
- 1 REPLY



"F‘U.J.l!l.l':L'H[IU'- ————— 7 howurs agg B subscrbars

The answer is G{Green)..C(Black)..F (Blue)...B{ violet/ yellow)... E(Red).. H{White).._A{y/¥)D {pink)....thank you sir mast puzzle session k liye J, o's

@y GP REPLY B

shikha katiyar & hours agc
Home work

Sir thank you aap etne ache se smjate ho mujhe reasoning m kuch bi smj me ni aata tha but ab m puzzle bi solve krleti hu thank you sir

C - Black..

Read more

@t P REPY B

Keka Maiti & hours ago
AMSWER

BOX COLOUR

G GREEN

C ELACK W

Read more

& ¥ pepry 8

&HRASHMI SONIGS 7 hours ago 3
HW... ANSWER

GREEM,.G

BLACK.C

BLUE,.F_.

Read more

5 ¢ Reply @




Alphabetical Series

Chinese Coding — Decoding
Inequality

Blood Relation

Syllogism

Distance & Direction

Floor with Variable Based Puzzle
Box with Variable Based Puzzle

Compare based Puzzle



Eight boxes G, H, F, E, D, C, B and A are arrange
in top to bottom. Each box have different colour
Red, Yellow, Green, Pink, Violet, White, Black
and Blue, but not necessary in the same order.
Only one box kept between G and F. Both Violet
and Yellow box kept below to C. Only two box
kept between E and Black. The colour of box B is
not Black. The colour of box G is Green and the
colour of box D is Pink. Only four box kept
between G and H. The colour of box F is Blue. As
many boxes between H and B as between H and
D. B kept at one of the position above to D. A
kept immediately below to White. Only two box
kept between Violet and Yellow.

AT G, H,F,E, D, C, B3ARAFTWI A=
AU Tl Tedeh AT | SATT-3TeT T T,
T, 2T, TTeATelt, ST, e, ShTelt 3R et 2,
AR Ueh &Y ShA W 31Tk A21 81 G 3R F & &=
HA Ueh ST TET 7T 2| ST 3T Uit &1 <k St
STeRT C oh el T U | E 3T hiet T7 ok s
HA a1 FTFT T T | fE=aT B T T hTeAT T2 2
fesa G w1 o1 ET § 3R fesan D FwT ATt ¥ G
3R H o =1 ST o fesa @ M0 3| fe=ar F v
T AT HIRBF AT A fesa E ™iaa H
3R D o & €1 B &1 D o 370X Tkt Teh €T WX
TET 7T 21 A hl The ok ek A<l TET T 21 ST
3R UreY {7 o e sharet <1 fesar W MU §)



Eight boxes G, H, F, E, D, C, B and A are arrange
in top to bottom. Each box have different colour
Red, Yellow, Green, Pink, Violet, White, Black
and Blue, but not necessary in the same order.
Only one box kept between G and F. Both Violet
and Yellow box kept below to C. Only two box
kept between E and Black. The colour of box B is
not Black. The colour of box G is Green and the
colour of box D is Pink. Only four box kept
between G and H. The colour of box F is Blue. As
many boxes between H and B as between H and
D. B kept at one of the position above to D. A
kept immediately below to White. Only two box
kept between Violet and Yellow.




678998797789787696897798976687

How many such digits are there in the given series each of which when
subtracted from the following digit, gives 1 as resultant?

&1 T3 JREeT | UH fohdd oieh &, N8 & uce st famaferiRad ofehi ® O ge™
U 1 9fuTTH UTH gaT 82

A .Three

B . Four

C . None

D . More than four
E . None of these



|
678998797789787696897798976687

Which of the following numbers will be obtained when the 18th number from the
right end is added to the 19th number from the left end of the series?

TeTRad # & 19 ©T W1 UTd B ST ST BR & 18 & HEAT il HTT o 916 B
19 =i HEIT H ST SATAT 22

1. 17
2. 15
3. 16
Z S
5

None of these



|
678998797789787696897798976687

How many odd numbers are there in the numeric series which are immediately

preceded by a number, which is a perfect cube?
HEATHE JEAT H THT TehaA1 fuH AT § [tk 3k Uget Th
TEAT 8, AT Ueh YUT O 2

1. Six

2.  Seven

3. Eight

4.  More than eight
5. None of these



|
678998797789787696897798976687

If 2 is subtracted from all odd numbers and 1 is subtracted from all even numbers
in the given number series, then which number will be sixteenth from the right
end?

afe & 7S T et ¥ At e areit § @ 2 werEn St § o usft an vt
o 1 IETIT ATAT 8, aF i W TEIT 21 8 A Aietgd! gri?

1. 7

5

9

8

None of these

S D



|
678998797789787696897798976687

How many such even numbers are there which is immediately followed

by a perfect square in the above series?
vt foRat aw HeaTt g Rk ek a1g Sulid SiEerT § Uk
qUT S SATAT 82

1. Only one
2. Two

3. Three
4. Five

5

. None of these



(&

Statements: ZO SEVS TW < FF S SS= EE

Conclusions:
1. EV<EE
2. SS>EV
3. ZO=EV
4. TW>FF
5. EE=SS



(&

Statements: EE=FFSSSSTH>EV >Z0O

Conclusions:
1. FFSEV
2. EESSS
3. FF=EE
4. TH>ZO
5. THZ2EE



(&

Statements: FUSTW >EV STL SST S EE

Conclusions:
1. TLSEE
2. EE=TW
3. FU>EV
4. FU=EV
S. 2,3and 4



(&

Statements: FUSTW <EV STL SST S EE

Conclusions:

1. EVSEE
2. EE>FU
3. EE=EV
4. FU>TW
5. ST<TW



(&

Statements: THSFFSNTZ2FU=EV>TW

Conclusions:
1. TH>FF
2. FU>TW
3. NT>TW
4. NT>EV
5. FF>FU



solution ,handle ,problem ,every is written as 5+71, 2+4n , 4-80 , 1-5¢
something, diverted, honesty is written as 5-7m, 1+2v, 2-4n

fine, leader, quality, work is written as 1+8n, 3+6a , 5-1a, 6+9r

What is code for “quality leader” o ToTu Tl hig T BITT?

(1) 5-1a, 3+6a
(2) 3+6a,5-1a
(3) 6+2a,3+6a
(4) 5-1a, 3-6a

(5) 5-1a,3+6b



solution ,handle ,problem ,every is written as 5+71, 2+4n , 4-80 , 1-5e¢
something, diverted, honesty is written as 5-7m, 1+2v, 2-4n

fine, leader, quality, work is written as 1+8n, 3+6a , 5-1a, 6+9r
What does “1+2v” stands for ?

(1) diverted
(2) work
(3) handle
(4) too

(5) NOT



(&

Sonam goes to the departmental store, which is to the North of her house, 6 km away by an
auto. After the shopping she decides to visit her friend Ayushi, Hence turns to the right and
reaches her friend’s house which is 8 km away. From there she visits a shop which is 6 km
away, taking a right turn. Finally, she turns to the right and phones up to the house to send the
car.

| TorTr oY gt | AT &, S foh 38k Tt ok IWH &, Tk ATel g 6 Toreft ot 38 7 et 21
Wﬁ%m%aﬁwm&ﬁﬁwmm% sﬂﬁna%?ﬂ'&neﬁ%aﬁ'{m
aﬁﬁ%mwugamﬁ’r%a‘rsﬁﬁﬁag%lamﬁagﬁﬁsﬁag@sgmmwaﬁwwﬁ%,a‘r
T AR Bl 31 H, TE 18 AR TSl 3R HR AT oh FoT0 =1 @i et 2

Q. How far is Sonam from her house?

| 10 w1 A frat T w2
(1) 6 km
(2) 10 km
(3) 12 km
(4) 8 km
(5) None of these



Q. Statements: hI:
All crab are snake. g} shereT, Tiv 2|
Some snake are fish. &S 9. 93T 8
No fish is a bug. FIS Acil, shie e 2|
All bug are rabbit. ol e, G 8
Conclusions: ’

Ry

I. All fish and snake being ’ S e T e
crab is a possibility. RRRIEER {9 b cheh$ B bl Ush

II. Some crab are not rabbit. RRICEIR

1. %% shehe, TN &l &l




Q. Statements:

All crab are snake.

Some snake are fish.

No fish is a bug.

All bug are rabbit.

Conclusions:

I. All fish and snake being crab
is a possibility.

II. Some crab are not rabbit.



hdq :

Q. Statements : F A Tl %|

Some adult are child. " :
q¥ft SalT He[a <

All child are strong. .
Some strong are free. D Heled ﬂqﬁ%l
All boy are free. it Tiehl ﬂW%l
Conclusions : Hny -

I) Some strong are adult. .
M £ (I) S Aed 5% o)

(I1) % ASHT oh sToall BI hl HWTSHT

H

(IT) Some boy being child is a

possibility



Q. Statements :

Some adult are child.

All child are strong.

Some strong are free.

All boy are free.

Conclusions :

(I) Some strong are adult.
(I) Some boy being child is a
possibility



Q. Statements :

No tom is jerry. T éﬁ‘lﬁél
All jerry are night. 1:m°r S a2

Some night are enjoy. Td A=< 2
No boozo is enjoy. ) § w| [ 3T &t 2l

41

6:9-

Conclusions :

%’

(I) Some night are not boozo.

2

OIEERGERIESE

o =N

(I) Some night are not tom. >
(I1) %S T 21 =




Q. Statements :

No tom is jerry.

All jerry are night.
Some night are enjoy.
No boozo is enjoy.
Conclusions :

(I) Some night are not boozo.
(I) Some night are not tom.



Q. Statements:-

Some way are road.

All road are lane.

No lane is street.

No underground is street.
Conclusions:-

I. Some underground are not
road.

II. Some way are underground.

hf:-

I TET GSH o
wﬁmqg’r%
IS UZT Teft T &)
IS EATA Tt 1
freny: -

I. %D FHTd @S 21 o
I1. s &1 T &)




Q. Statements:-

Some way are road.

All road are lane.

No lane is street.

No underground is street.
Conclusions:-

I. Some underground are not road.
II. Some way are underground.



Q. Statements: -
No River is Summer. I ar, THT =1 2l

Some Summer are Winter.
Some Lake are not River and \9 T[If‘f ‘élﬁ%l
Summer. 7m'_2§31|c7| 7 3 T 92 2

All Winter are Spring. Yl gaf, SETd H

Conclusions: ELE AR

I. Some Spring being River is :
P e I. % SRETd % 4t B T HH1HT 21
a possibility

I1. Some Winter are not River. IL Wﬂﬁ :IEQI:I%(T%l




Q. Statements:

No River is Summer.

Some Summer are Winter.
Some Lake are not River and
Summer.

All Winter are Spring.
Conclusions:

I. Some Spring being River is a
possibility

I1. Some Winter are not River.



Q.Hina, Kiran, Shakti, Shree, Lata, and Mita are part of a family Lata and Mita
are siblings. Shree is son-in-law of Hina and son of Mita. Shakti is only child of
Kiran, who is grandfather of Lata.
T, forwoT, oifem, off, o1aT 3R HiaT Uk URER o 9S&T 81 a1 3R HiaT Wig 92 B
oft, f2IT o 2TTE ¥ ST Wiar o1 92T B | Irfvh, TeRTuT o1 UehHT o= B, ST T o 21eT
2
Q. How is Shree related to Kiran?
oft, fervor & Ha Taifera &2
(A) Grandson / CIGICIGI] (B) Grand-daughter / qret/Ataa
(C) Daughter-in-law / 9g (D) None of these /sqfrﬁaﬁ's‘qﬁ



Seven person P, Q, R, S, T, U and V lives on seven
floors building starting from ground floor number
1 to top floor number 7. Only one person lives on
each floor. Each of them have different age 29, 31,
33, 35,37, 39 and 41, but not necessarily in the
same order. P does not live on odd numbered floor.
There are only two floors between R and S. T lives
on the floor immediate above the S floor who’s age
is 39. V lives on topmost floor. The age of U is 41.
Only two people lives between V and S. The one
who’s age is 29 lives exactly between R and T. Only
three persons are lives between Q and the one
who’s age is 35. The one who’s age is 31 lives
immediately below to P. The number of persons
lives between T and P is same as the number of

people lives between the one who’s age is 37 and 33.

I sath P, Q, R, S, T, U 3TR V @Ta HiStent hY
FHRA | T&d § AT HAe SEAT 1 § I geht 1Y et
AT 7 ek 81 Tcdeh HINTeT U ShaleT Ueh s i<k (@ 2l
ITH W Tk hi -3 A 29, 31, 33, 35, 37,
39 3T 41 B, TiTch TTAIAHh A81 36T shW H &l P
foro wiea aret Hister uX 78 At 81 R 3R S & &
HIA S HISGTA 81 T, S & 3ok FHUX Tt Hiter W
et & foraeht s 39 ad At € | V wad ot wivre
TR AT B U T 31T 41 99 §| A T 4t V AR S
% o1 15 8| oeh g 29 SR IE R AR T 6
3Yeh sfier § T@dT 31 Shaet a9 sat<h Q 3 35 a9 <t
T & el Tea 2| ekt oy 31 a4 & 38 PR S
Frer AT 81 T AR P o =l T ATeA S {<hal chi S&AT
It & § RraT foh 37 o 33 W aht o1y o &fier A
TA AN <hT TEAT B



Seven person P, Q, R, S, T, U and V lives on seven floors building

starting from ground floor number 1 to top floor number 7. Only one

person lives on each floor. Each 0f them have different age
29, 31, 33, 35, 37, 39 and 41, but not necessarily in
the same order. P does not live on odd numbered
floor. There are only two floors between R and S. T
lives on the floor immediate above the S floor who’s
age is 39. V lives on topmost floor. The age of U is
41. Only two people lives between V and S. The one
who’s age is 29 lives exactly between R and T. Only
three persons are lives between Q and the one
who’s age is 35. The one who’s age is 31 lives
immediately below to P. The number of persons
lives between T and P is same as the number of

people lives between the one who’s age is 37 and 33.




S Boys- S, T, U, V and W; each have different number of Box. W has less boxes than only V. T
has 10 Boxes. U has 17 boxes more than S who has 5 boxes. V has 25 boxes.
57SH S, T, U, V TR W; Tedieh o TTH TeNT-TeT T T&AT H d19 4 3

W & UT® ShaeT V & W a1 8| T o T 10 ST 2| U & I, S § 17 St 3tferes 8, forees e
5 SiTer 81 V o UTH 25 STe )

Q. U have more boxes than  persons?
UShUE _ Sghdl O STTereh ST 82

(1) 2

2)1

)4

4)3

(5) Cannot be determined



Q. Study the given information carefully and answer the given questions.

S Boys- S, T, U, V and W; each have different number of Box. W has less boxes than only V.
T has 10 Boxes. U has 17 boxes more than S who has 5 boxes. V has 25 boxes.

5TSH S, T, U, V 3R W; Teleh & UTH 3TeITT-3Te T HEAT H 91 2l

W & UTH ol V & HH ST 81 T o OT 10 1o 81 U & UTe, S ¥ 17 St 31teres 3, frass ur
5 ST 81 V ok U1 25 STaT &)

Q.How many boxes W have?
W % e fera aifer &2

(1) 23

(2) 24

R)PAY

(4) 23/24

(5) 38



